DKI S20

SE Installatérsmanual Delningssats S735
GB Installer Manual, Splitter kit S735

DE Installateurhandbuch Teilungskit S735
Fl Asennusohjeen jakosarja S735

NL Asennusohjeen jakosarja S735

IHB 2225-1
631189

< NIBE







Table of Contents

Svenska
Allmant

Forberedelser

Demontering

Konsol

Réranslutning

Elinkoppling

Topplat
Bottenplat

English

General

Preparations

Dismantling

Bracket

Pipe connections

Electrical connection

Top panel

Base plate

Deutsch

Allgemeines
Vorbereitungen

Demontage

Konsole

Rohranschluss

Elektrischer Anschluss

Obere Abdeckung
Bodenplatte

Suomeksi
Yleista

Valmistelut

Irrotus

Kannatin

Putkiliitanta

Sahkbdasennukset

Ylapelti

Pohjalevy

DKI S20 | FI

VO 0 0N 000 b

1
12
12
13
14
15
16
16

18
19
19
20
21
23
24
24

25
26
26
27
28
29
30
30

Nederlands
Algemeen

Voorbereidingen
Demonteren

Beugel

Aansluiting van de leidingen

Elektrische aansluiting

Bovenpaneel

Bodemplaat:

32
33
33
34
35
37
38
38



Svenska

Allmant

Detta tillbehdr anvénds d& man vill dela S735 och installera
luftbehandlingsdelen och beredardelen pa avstand fran
varandra, t.ex. montera luftbehandlingsdelen pé vinden.

Konsolen BAU 10 bér anvandas for att montera luftbehand-
lingdelen.

UTJAMNINGSKARL (UKV)

| anlaggningar med varmesystem som ar kansligt for
knappningar samt stort avstand mellan luftbehandlingsdel
och beredardel kan ett utjamningskarl (UKV) eventuellt be-
hoéva installeras.

? TANK PAl

For att undvika onddiga varmefoérluster bor roren
isoleras.

Max rérlangd mellan luftbehandlingsdelen och
beredardelen ar 20 m.

Max kabellangd for kommunikationskabeln mellan
luftbehandlingsdelen och beredardelen ar 30 m.

F TIPS!

Se installatérshandboken for S735 fér mer informa-
tion om varmepumpen och dess installation. Doku-
mentet finns att ladda hem pa nibe.se.

INNEHALL

1st Topplat

1st Bottenplat

1st Plat

1st Kondensvattenslang

4 st Skarvkopplingar

8 st Skruv M5x9

2 st Skruv M5x16

2 st Mutter

8 st Lasclips

2 st Kontaktdon fér matningskabel
2 st Kommunikationskabel med kontaktdon
1st Ferrit

16 st O-ringar

1st Buntband

5st Buntband med clips

2 st Buntband av metall

2 st Isolering

DKI S20 | SE


www.nibe.se

Forberedelser Demontering

& OBS! ? TANK PAI

Tom S735 péa vatten om den blivit installerad tidi- Luftbehandlingsdelen vager ca. 75 kg och vikten
gare. Varmt vatten kan férekomma vid témning, arinte jamt férdelad, luftbehandlingsdelens hégra
skallningsrisk kan féreligga. sida ar tyngst.
Anvand lyfthjalpmedel for att pa ett sdkert satt
1. Stangavvarmepumpen och brytstrommen med saker- kunna fa ner luftbehandlingsdelen till Iamplig ar-
hetsbrytaren. betshojd. Om det inte finns mojlighet att anvanda
2. Demontera varmepumpens frontluckor. lyfthjalpmedel forbereds en avlastningsplats i

3. Demontera displayen. lamplig hojd dar luftbehandlingsdelen placeras.

1. Lossa kablagen mellan luftbehandlingsdelen och bere-
dardelen.

2. Lossakondensvattenslangen fran luftbehandlingsdelen.

3. S735med spillvattenkopp: lossa vattenlaset (WM6) fran
spillvattenkoppen (WM1).

4. S735 med spillvattenkopp: Demontera vattenlaset fran
kondensvattenslangen.

DKI S20 | SE 5



5. Demontera rérkopplingarna fran fram- och returledning- KO nSOI

arna. 1. Montera konsolen BAU 10 enligt dess installatérshand-
a bok.
= 2. Montera den bipackade platen i luftbehandlingsdelens
bakkant, fast den med luftbehandlingsdelens befintliga
@)))) — skruvar. Montera dven buntbanden av metall samtisole-
=~/ 9\ ) ringskuddarna.
==
=" 5

AP TIPS!

Lyft luftbehandlingsdelen nagotiframkant sa
ar det lattare att komma at rérkopplingarna.

Luftbehandlingsdelen ar fasti varmepumpens
framkant med tva skruvar.

6. Nar skruvarna lossats, avlagsna luftbehandlingsdelen
fran beredardelen genom att dra den mot varmepum- 3 i ut lasvinklarna pa luftbehandlingsdelen.
pens framkant och sen uppat.

4. Montera luftbehandlingsdelen pa konsolen.

? TANK PAI

Var forsiktig sa att kondensvattenpipen pa
luftsbehandlingsdelen inte skadas.

6 DKI S20 | SE



5. Passainlasvinklarna pa luftbehandlingsdelenikonsolen
och skruva fast dem med de medlevererade M5x16-
skruvarna.

DKI S20 | SE

Roranslutning

All rérdragning ska ske med 22 mm rér och snava bdjar ska
undvikas.

LUFTBEHANDLINGSDEL
1. Montera ror till fram- och returledningarna med medle-
vererade vinkelkopplingar, clips och o-ringar.

Returledning

Framledning

2. Fastroreniluftbehandlingsdelens bakkant med bunt-
banden av metall.

3. Montera avluftningsventiler pa hogsta punkteniinstal-
lationen.

4. Montera den medlevererade kondensvattenslangen pa
luftbehandlingsdelen.

KONDENSVATTENSLANG
Kondensvattenslangen dras till aviopp, detta kan géra pa
olika satt.

Slangen forlaggs sluttande i hela sin langd for att undvika
vattenséckar.

:‘('_)’: TIPS!

Vid behov kan kondensvattenslangen kapas.

S735 MED INBYGGT VATTENLAS (WM6)
1. Montera vattenlaset (WM6) pa luftbehandlingsdelens
kondensvattenslang.

2. Omdet ar mojligt, fast vattenlaset pa en kant pa avlop-
pet.

| annat fall:

Forma kondensvattenslangen till ett vattenlds och dra
slangen till aviopp.

S735 SOM SAKNAR INBYGGT VATTENLAS
Forma kondensvattenslangen till ett vattenlas och dra
slangen till aviopp.



BEREDARDEL

1. Dra ut flexréren pa baksidan av beredardelen.

2. Montera de bipackade raka skarvkopplingarna med
medféljande clips och o-ringar. Skarvkopplingarna satts
mellan befintliga flexrér och de rér som dras mellan be-
redardelen och luftbehandlingsdelen.

§> TANK PA!

Montera och/eller byt o-ringar pa samtliga

i DI

kopplingar.

Framledning Returleding

Elinkoppling

A 0BS!

All elektrisk inkoppling ska ske av behorig elektri-
ker.

Elektrisk installation och ledningsdragning ska ut-
foras enligt géllande nationella bestammelser.

Varmepumpen ska vara spanningslés vid installa-
tion av DKI S20.

Minsta area pa kommunikations- och givarkablar till extern
anslutning ska vara 0,5 mm? upp till 50 m, till exempel
EKKX, LiYY eller liknande.

Max kabellangd fér kommunikationskabeln mellan luftbe-
handlingsdelen och beredardelen ar 30 m.

Minsta area pa matningskabel ska vara 1,5 mm?, till exem-
pel HO5VV, HO5Z1Z1, HO7RNF eller liknande.

For att undvika stérningar far givarkablar till externa an-
slutningarinte férlaggas i nérheten av starkstrémsledning-
ar.

KOMMUNIKATIONSKABEL

Anslut de medlevererade kommunikationskablarna.

Kabeln som ar férsedd med ferrit ansluts i luftbehandlings-
delen

Den andra kabeln ansluts i beredardelen.

Skarva samman kablarna i kopplingsdosor.

? TANK PAI

Kopplingsdosorna ska uppfylla IP-klassning base-
rat pa var de placeras.

DKI S20 | SE



MATNINGSKABEL Topplat

1. Montera medlevererad ferrit pa matningskabeln, sa nara
luftbehandlingsdelen som mdjligt. Kabeln tras igenom
ferriten 3 ganger.

1. Montera topplaten pa beredardelen. Fast platen med 6
av de medlevererade M5x9-skruvarna.

g

2. Skala matningskabeln.

Bottenplat

3. Monterade 2 medlevererade kontaktdonenpamatnings- 1. Monterasamman bottenplaten med 2 av de medlevere-
kabeln. rade M5x9-skruvarna.

PZ1-mejsel

4. Kopplasamman luftbehandlingsdelen med beredardelen.

DKI S20 | SE 9



10

3. Montera bottenplaten pa luftbehandlingsdelen.

A==
cn

i AT ==,

==

4. Skruva fast bottenplateniluftbehandlingsdelens fram-

kant med samma skruvar som haller fast luftbehandlings-
delenikonsolen.

S ==
=

=i

I

— i N

Fixera kablagen samt kondensvattenslangen i botten-
platen med de medlevererade buntbanden.

Atermontera frontplatarna pa luftbehandlings- och be-
redardelen.

DKI S20 | SE



English

General

This accessory is used when you want to split up S735 and
install the air treatment unit and the water heater unit at
some distance from each other, e.g. install the air treatment
unit in the attic.

The bracket BAU 10 should be used to install the air treat-
ment unit.

BUFFER VESSEL (UKV)

In installations with heating systems that are sensitive to
clicking noises, and where there is a large distance between
the air treatment unit and the water heater unit, it might be
necessary to install a buffer vessel (UKV).

? Caution

To prevent unnecessary heat losses insulate the
pipes.

The max pipe length between the air treatment
unit and the water heater unit is 20 m.

The max cable length for the communication cable
between the air treatment unit and the water
heater unit is 30 m.

% TIP

See the Installer Manual for S735 for more inform-
ation about the heat pump and its installation. The
document can be downloaded from nibe.eu.

DKI S20 | EN

CONTENTS

1X Top panel

1X Base plate

1x Panel

1x Condensation water hose

4 x Joint connections

8 x Screw M5x9

2 x Screw M5x16

2 X Nuts

8 x Locking clips

2 x Connector for power supply cable
2 x Communication cable with connector
1x Ferrite

16 x 0-rings

1x Cable ties

5x Cable tie with clips

2x Metal cable ties

2 x Insulation

"


https://www.nibe.eu

Preparations

NOTE

Drain S735 of water if it was previously installed.
There may be some hot water when draining, risk
of scalding.

1. Switch off the heat pump and cut the power with the
safety switch.

2. Remove the heat pump’s front panels.

3. Remove the display.

Dismantling

1.

Caution

The air treatment unit weighs approx. 75 kg and
the weight is not evenly distributed - the right side
of the air treatment unit is the heaviest.

Use lifting equipment to lower the air treatment
section safely to a suitable working height. If it is
not possible to use lifting equipment, prepare a
position at a lower height where the air treatment
unit can be placed.

Disconnect the wiring between the air treatment section
and the water heater section.

Disconnect the condensation hose from the air treat-
ment section.

S735 with overflow cup: disconnect the water seal (WMé6)
from the overflow cup (WM1).

S735 with overflow cup: Remove the water seal from
the condensation hose.

DKI S20 | EN



5. Remove the pipe connections from the supply and re- Bracket

turn lines. 1. Install the bracket BAU 10 according to its Installer
a Manual.
= 2. Installthe enclosed panel at the rear of the air treatment
unit and secure it in place with the air treatment unit’s
@)))) — existing screws. In addition, install metal cable ties and
=~/ 9\ ) the insulation pads.

==
af:/ ] g

AP TIP

Lift the air treatment unit slightly at the front
edge, making it is easier to access the pipe
connections.

The air treatment unit is secured at the front
edge of the heat pump with two screws.

\{ CUV ] DTN

=G0
()

6. When the screws have been removed, remove the air 3. Bend out the lock tabs on the air treatment unit.
treatment unit from the heater unit by pulling it towards
the front edge of the heat pump and then upwards.

4. Install the air treatment unit on the bracket.

? Caution

Take care not to damage the condensation
pipe on the air treatment unit.

DKI S20 | EN 13



5. Slide the lock tabs on the air treatment unit into the
bracket and screw them into place using the enclosed
M5x16 screws.

14

Pipe connections

All other pipe routing must be carried out using 22 mm pipe
and tight bends must be avoided.

AIR TREATMENT SECTION
1. Install pipes for the supply and return lines using the
enclosed angle connectors, clips and O-rings.

Return pipe

T
7
\Flow pipe

2. Attach the pipes at the rear of the air treatment unit
using metal cable ties.

3. Installthe vent valves at the highest pointin the install-
ation.

4. Installthe enclosed condensation hose on the air treat-
ment unit.

CONDENSATION WATER HOSE
The condensation hose is routed to a drain, which can be
done in various ways.

The entire length of the hose is inclined to prevent water

pockets.

0)- TIP
= If necessary, the condensation hose can be
shortened by cutting it.

S735 WITH INTEGRAL WATER SEAL (WMé6)
1. Install a water seal (WMé) on the air treatment unit’s
condensation hose.

2. |If possible, secure the water seal on one edge of the
drain.

Otherwise:

Shape the condensation hose to form a water seal and
route the hose to a drain.

S735 WITH NO INTEGRAL WATER SEAL
Shape the condensation hose to form a water seal and route
the hose to a drain.

DKI S20 | EN



HEATER SECTION

1.

Pull out the flexible pipes on the rear side of the water
heater unit.

Install the enclosed straight joint connections using the
enclosed clips and O-rings. The joint connections are
placed between existing flexible pipes and the pipes
that are routed between the water heater unit and the
air treatment unit.

? Caution

Install and/or replace O-rings on all of the
couplings.

S*’iﬁé@%ﬁ
W —

Flow pipe Return line

DKI S20 | EN

Electrical connection

& NOTE

All electrical connections must be carried out by
an authorised electrician.

Electrical installation and wiring must be carried
out in accordance with national provisions.

The heat pump must not be powered when in-
stalling DKI S20.

* The minimum area of communication and sensor cables
to external connections must be 0.5 mm? up to 50 m, for
example EKKX, LiYY or equivalent.

* The max cable length for the communication cable
between the air treatment unit and the water heater unit
is 30 m.

e The minimum area of the power supply cable has to be
1.5 mm?2, for example HO5VV, H05Z1Z1, HO7RNF or similar.

- Topreventinterference, sensor cables to external connec-
tions must not be laid close to high voltage cables.

COMMUNICATION CABLE

Connect the enclosed communication cables.

» The cable thatis provided with ferrite beads is connected
in the air treatment unit

* The other cable is connected in the water heater unit.

» Join the cables in junction boxes.

? Caution

The junction boxes must satisfy the IP rating based
on where they are placed.

15



POWER SUPPLY CABLE Top panel

1. Install the enclosed ferrite beads on the power supply
cable, as close as possible to the air treatment unit. The
cable is threaded through the ferrite beads 3 times.

1. Install the top panel on the water heater section. Secure
the panel with 6 of the M5x9 screws supplied.
g

2. Strip the power supply cable.

Base plate
3. Install the 2 enclosed connectors on the power supply 1. secure the base plate with 2 of the enclosed M5x9
cable. screws.

PZ1 screwdriver

4. Connectthe air treatment unit to the water heater unit.

16 DKI S20 |EN



3. Install the base plate on the air treatment unit.

A==
cn

i AT ==,

==

4. Screw the base plate into place at the front edge of the
air treatment unit using the same screws that secure
the air treatment unit to the bracket.

S ==
=

=i

I

— i N

5. Secure the wiring and the condensation hose in the
base plate using the enclosed cable ties.

6. Reinstall the front panels on the air treatment and water
heater units.

DKI S20 | EN

17



Deutsch

Allgemeines

Dieses Zubehor wird verwendet, wenn man S735 teilen und
das Abluftmodul und das Speicherteil getrennt voneinander
installieren will, z. B. bei einer Montage des Abluftmoduls
auf dem Dachboden.

Fur die Montage des Abluftmoduls sollte die Konsole BAU
10 verwendet werden.

PUFFERSPEICHER (UKV)

Bei Anlagen mit Heizsystemen, die anféllig fir Knackge-
rausche sind, sowie bei einem groBen Abstand zwischen
Abluftmodul und Speicherteil muss gegebenenfalls ein
Pufferspeicher (UKV) installiert werden.

? ACHTUNG!

Um unnotige Warmeverluste zu vermeiden, sollten
die Rohre isoliert werden.

Die maximale Rohrlange zwischen Abluftmodul
und Speicherteil betragt 20 m.

Die maximale Lange des Kommunikationskabels
zwischen Abluftmodul und Speicherteil betragt
30 m.

Xy TIPP!

Weitere Informationen zur Warmepumpe und deren
Installation finden Sie im Installationshandbuch
far S735. Das Dokument steht unter nibe.de zum
Download bereit.

18

Anschlussstuck fur Stromversorgungskabel

INHALT

1St Obere Abdeckung

1St. Bodenplatte

1St. Blech

1St. Kondenswasserschlauch
4 St. Verbindungskupplungen
8 St. M5x-Schraube?

2 St M5x-Schraube16

2 St. Muttern

8 St. Sicherungsklemmen

2 St

2 St Kommunikationskabel mit Anschlussstick
1St. Ferrit

16 St. O-Ringe

1St. Kabelbinder

58St Kabelbinder mit Klemmen
2 St Kabelbinder aus Metall

2 St Isolierung

DKI S20 | DE


www.nibe.de

Vorbereitungen

& HINWEIS!

Lassen Sie aus S735 das Wasser ab, sofern bereits
eine frihere Installation vorgenommen wurde.
Beim Entleeren kann heiBes Wasser austreten.
Dabei besteht eine mogliche Verbriihungsgefahr.

1. Schalten Sie die Warmepumpe aus, und unterbrechen

Sie die Stromversorgung mit dem Sicherheitsschalter.

2. Nehmen Sie die Frontabdeckungen der Warmepumpe
ab.

3. Demontieren Sie das Display.

DKI S20 | DE

Demontage

? ACHTUNG!

1.

Das Abluftmodul wiegt ca. 75 kg, und das Gewicht
ist ungleich verteilt, wobei die rechte Seite des
Abluftmoduls am schwersten ist.

Verwenden geeignetes Hebezeug, um das Abluft-
modul auf sichere Weise auf eine geeignete Arbeits-
héhe abzusenken. Wenn die Verwendung von He-
bezeug nicht moglich ist, missen Sie eine Abstell-
flache in geeigneter Hohe vorbereiten, auf der Sie
das Abluftmodul platzieren.

Losen Sie die Verkabelung zwischen Abluftmodul und
Speicherteil.

Ldsen Sie den Kondenswasserschlauch vom Abluftmo-
dul.

S735 mit Uberlaufbehélter: Lésen Sie den Wasserver-
schluss (WMé) vom Uberlaufbehélter (WM1).

S735 mit Uberlaufbehélter: Entfernen Sie den Wasser-
verschluss vom Kondenswasserschlauch.

19



5. Entfernen Sie die RohranschllUsse an Vor- und Ricklauf. KO nso|e

a 1. Montieren Sie die Konsole BAU 10 gem&B dem zugehdri-
C_a> gen Installateurhandbuch.
2. Montieren Sie das mitgelieferte Blech an der hinteren
@)))) — Kante des Abluftmoduls, und befestigen Sie es mit den
S— % vorhandenen Schrauben des Abluftmoduls. Montieren
I=F= Sie auBerdem den Kabelbinder aus Metall sowie die Iso-
= ﬁ lierkissen.

0)- TIPP!

Heben Sie das Abluftmodul an der Vorderseite
etwas an, um einfacher an die Rohrkupplungen
zu gelangen.

Das Abluftmodul ist mit zwei Schrauben an
der Warmepumpenvorderseite befestigt.

6. Nachdem die Schrauben gel6st wurden, entfernen Sie
das Abluftmodul vom Speicherteil, indem Sie es an der

Vorderseite der Warmepumpe herausziehenunddann 3 kjappen Sie die Sicherungswinkel des Abluftmoduls
nach oben ziehen. heraus.

20 DKI S20 | DE



4. Montieren Sie das Abluftmodul auf der Konsole.

? ACHTUNG!

Gehen Sie vorsichtig vor, damit die Kondens-
wassertulle am Abluftmodul nicht beschadigt
wird.

5. Passen Sie die Sicherungswinkel des Abluftmoduls in
die Konsole ein, und schrauben Sie sie mit den beiliegen-
den M5x16-Schrauben fest.

DKI S20 | DE

Rohranschluss

Die gesamte Rohrverlegung muss mit 22-mm-Rohren erfol-
gen. Scharfe Knicke sind zu vermeiden.

ABLUFTMODUL

1. Bringen Sie die Rohre mit den beiliegenden Winkelver-
bindungen, Klemmen und O-Ringen am Vor- und Ruck-
lauf an.

Rucklauf

T
\/Vorlauf

2. Befestigen Sie das Rohr an der hinteren Kante des Ab-
luftmoduls mit einem Kabelbinder aus Metall.

3. Montieren Sie am hochsten Punkt der Installation Ent-
lGftungsventile.

4. Montieren Sie den beiliegenden Kondenswasserschlauch
am Abluftmodul.

KONDENSWASSERSCHLAUCH
Der Kondenswasserschlauch muss zum Abfluss verlegt
werden, was auf unterschiedliche Weise erfolgen kann.

Der Schlauch muss Uber die gesamte Lange mit einem Ge-
falle verlegt werden, damit keine Wasseransammlungen
entstehen.

0)- TIPP!

Bei Bedarf kann der Kondenswasserschlauch ge-
kurzt werden.

S735 MIT INTEGRIERTEM

WASSERVERSCHLUSS (WMé6)

1. Montieren Sie den Wasserverschluss (WMé) am Kondens-
wasserschlauch des Abluftmoduls.

2. Befestigen Sie, falls moglich, den Wasserverschluss an
der Abflusskante.

Andernfalls:

Formen Sie den Kondenswasserschlauch zu einem
Wasserverschluss, und verlegen Sie den Schlauch zum
Abfluss.

21



S$735 OHNE INTEGRIERTEN SPEICHERTEIL

WASSERVERSCHLUSS 1

Formen Sie den Kondenswasserschlauch zu einem Wasser-
verschluss, und verlegen Sie den Schlauch zum Abfluss.

22

N

Ziehen Sie die Flexrohre auf der Rlickseite des Speicher-
teils heraus.

Montieren Sie die mitgelieferten geraden Verbindungs-
kupplungen mit den beiliegenden Klemmen und O-Rin-
gen. Die Verbindungskupplungen werden zwischen
vorhandene Flexrohre und die Rohre, die zwischen
Speicherteil und Abluftmodul verlegt werden, gesetzt.

? ACHTUNG!

Montieren und bzw. oder ersetzen Sie die O-
Ringe an allen Kupplungen.

i VIl

Vorlauf Racklauf

DKI S20 | DE



Elektrischer Anschluss

A HINWEIS!

Alle elektrischen Anschllsse missen von einem
befugten Elektriker ausgefihrt werden.

Bei der elektrischen Installation und beim Verlegen
der Leitungen sind die geltenden nationalen Vor-
schriften zu berlcksichtigen.

Die Warmepumpe darf bei der Installation von
DKI S20 nicht mit Spannung versorgt werden.

* Der minimale Kabelquerschnitt der Kommunikations-und
Flhlerkabel fir einen externen Schaltkontakt muss 0,5
mm? bis zu 50 m betragen, z.B. EKKX, LiYY o.s.a.

» Die maximale LAnge des Kommunikationskabels zwischen
Abluftmodul und Speicherteil betragt 30 m.

» Das Stromversorgungskabel muss meinen Mindestquer-
schnitt von 1,5 mm? aufweisen, z. B. HO5VV, H05Z121,
HO7RNF oder Ahnliches.

« Um Stérungen zu vermeiden, diirfen Fuhlerkabel fur exter-
ne Schaltkontakte nichtin der Nahe von Starkstromleitun-
gen verlegt werden.

KOMMUNIKATIONSKABEL
SchlieBen Sie die beiliegenden Kommunikationskabel an.

 Das Kabel mit Ferrit wird am Abluftmodul angeschlossen

» Das andere Kabel wird am Speicherteil angeschlossen.

» Verbinden Sie die Kabel in Anschlussdosen.

g ACHTUNG!

Die Anschlussdosen mussen je nach Standort die
entsprechende IP-Schutzklasse erfullen.

DKI S20 | DE

STROMVERSORGUNGSKABEL

1.

4.

Montieren Sie den mitgelieferten Ferrit am Stromversor-
gungskabel, und zwar so nah am Abluftmodul wie
maoglich. Ziehen Sie das Kabel 3-mal durch den Ferrit.

Isolieren Sie das Stromversorgungskabel ab.

Montieren Sie die 2 mitgelieferten Anschlussstiicke am
Stromversorgungskabel.

Z1-Schraubendrehel

Verbinden Sie das Abluftmodul mit dem Speicherteil.

23



Obere AbdeCkung 3. Bringen Sie die Bodenplatte am Abluftmodul an.

1. Bringen Sie das obere Abdeckblech auf dem Speicherteil
an. Befestigen Sie das Blech mit 6 der mitgelieferten
M5x9-Schrauben.

4. Schrauben Sie die Bodenplatte mit denselben Schrau-
ben, mit denen das Abluftmodul an der Konsole befestigt
ist, an der Vorderkante des Abluftmoduls fest.

Bodenplatte
1. Montieren Sie die Bodenplatte mit 2 der beiliegenden
M5x9-Schrauben.

2. Klappen Sie die Sicherungswinkel an der Bodenplatte

heraus. 5. Fixieren Sie die Kabel sowie den Kondenswasserschlauch
mithilfe der beiliegenden Kabelbinder an der Bodenplat-
te.

6. Befestigen Sie die Frontabdeckungen wieder am Abluft-
modul und Speicherteil.

24 DKI S20 | DE



Suomeksi

Yleista

Tata lisdvarustetta kaytetaan, kun haluat jakaa S735:a ja
asentaailmankasittelyosan ja varaajaosan etaalle toisistaan,
esimerkiksi asentamalla ilmankasittelyosan ullakolle.

Konsolia BAU 10 on kaytettava ilmankasittelyosan kiinnitta-

miseen.

PUSKURIVARAAJA (UKV)

Jos lammitysjarjestelma naksahtelee ja ilmankasittelyosan
javaraajaosan valinen etaisyys on suuri, saattaa olla tarpeen
asentaa varaajasiilio (UKV).

? MUISTAI

Tarpeettomien lampdhavididen valttamiseksi put-
ket tulee eristaa.

Iimankasittelyosan ja varaajaosan valisen putken
enimmaispituus on 20 m.

Iimankasittelyosan ja varaajaosan valisen tiedon-
siirtokaapelin enimmaispituus on 30 m.

OF VIHJE!

Lisatietoa lampdépumpusta ja sen asennuksesta
on S735:n asentajan kasikirjassa. Dokumentin voit
ladata osoitteesta nibe.fi.

DKI S20 | FI

SISALTO

1kpl Ylapelti

1kpl Pohjalevy

1kpl Pelti

1kpl Kondenssivesiletku
4 kpl Jatkoliitokset

8 kpl Ruuvi M5x9

2 kpl Ruuvi M5x16

2 kpl Mutteri

8 kpl Lukkopidike

2 kpl Syottékaapelin liitin
2 kpl Tietoliikennekaapeli ja liitin
1kpl Ferriitti

16 kpl O-renkaat

1kpl Nippuside

5 kpl Pidikenippuside

2 kpl Metallinen nippuside
2 kpl Eriste

25


www.nibe.fi

Valmistelut Irrotus

HUOMI MUISTAI
Tyhjenna S735 jos se on asennettu aikaisemmin. IiImankasittelyosa painaa noin 75 kg ja paino ei ja-
Tyhjennyksen yhteydessa siita saattaa tulla kuu- kaudu tasaisesti, iimankasittelyosan oikea puolion

maa vetta. painavin.

Kayta nostoapuvalineita laskeaksesiilmankasitte-
1. Kytke lampopumppu pois paalta ja katkaise virta turva- lyosan turvallisesti sopivalle tydskentelykorkeudel-
kytkimella. le. Jos nostoapuvalineiden kaytto ei ole mahdollis-
2. Irrota lamp6pumpun etuluukut. ta, valmistele sopivalla korkeudella oleva laskutila,

3. Irrota naytté johon ilmankasittelyosa sijoitetaan.

1. Irrota ilmankasittelyosan ja lammaonsiirto-osan valiset
kaapelit.

2. Irrota kondenssivesiletku ilmankasittelyosasta.

3. S735 jatevesikupin kanssa: irrota vesilukko (WM6) jate-
vesikupista (WM1).

4. S735 jatevesikupin kanssa: Irrota vesilukko kondenssi-
letkusta.

26 DKI S20 | FI



5. Irrota meno- ja paluuputkien liitannat. Kannatin

—) 1. Asennakannatin BAU 10 sen asentajan kéasikirjan mukai-
] .
C_ > sesti.
2. Asenna mukana toimitettu levy ilmankasittelyosan ta-
@)))) — kaosaan, ja kiinnita se ilmankasittelyosan nykyisilla
— g ) ruuveilla. Asenna myds metallinippusiteet ja eristetyy-
I=¢C= nyt.

0)- VIHJE!

Nosta ilmankasittelyosaa hieman etureunasta,
jotta liitdnt6ihin on helpompi paasta kasiksi.

limankasittelyosa on kiinnitetty Iampopumpun
etureunaan kahdella ruuvilla.

G

]

DEJoe \ o
| |
6. Kunruuvitonldysatty, irrota ilmankasittelyosa varaajao-

sasta vetamalla sita lampopumpun etureunaa kohti ja
sitten yléspain. 3.

4. Asenna ilmankasittelyosa kannattimeen.

? MUISTA!

Varo vaurioittamasta ilmankasittelyosan kon-
denssivesiputkea.

DKI S20 | FI 27



5. Asennailmankasittelyosan lukituskulmat kannattimeen
ja ruuvaa ne paikalleen mukana toimitetuilla M5x16-
ruuveilla.

28

Putkiliitanta

Kaikki putkiasennukset tulee tehda 22 mm putkilla. Valta
jyrkkia mutkia.

ILMANKASITTELYOSA
1. Asenna putket meno- ja paluuputkiin mukana toimite-
tuilla kulmaliittimilla, pidikkeilla ja o-renkailla.

Paluujohto

\Menojohto

2. Kiinnita putketilmankasittelyosan takaosaan metallisilla
nippusiteilla.

Asennailmausventtiilit laitteiston korkeimpaan kohtaan.

4. Asennamukana toimitettu kondenssivesiletku ilmanka-
sittelyosaan.

KONDENSSIVESILETKU
Kondenssivesiletku johdetaan lattiakaivoon, tdma voidaan
tehda eri tavoin.

Letkun on laskettava koko pituudeltaan vesitaskujen valtta-

miseksi.

:‘('_)’: VIHJE!

Tarvittaessa kondenssivesiletkun voi katkaista.

S735 SISAANRAKENNETULLA VESILUKOLLA

(WM6)
1. Asenna vesilukko (WMé6) ilmankasittelyosan kondenssi-
vesiletkuun.

2. Jos mahdollista, kiinnita vesilukko lattiakaivon reunaan.
Muuten:

Muotoile kondenssivesiletku vesilukoksi ja veda letku
lattiakaivoon.

S735 ILMAN SISAANRAKENNETTUA
VESILUKKOA

Muotoile kondenssivesiletku vesilukoksi ja veda letku lattia-
kaivoon.

DKI S20 | FI



VARAAJAOSA

1. Veda letkut ulos varaajaosan takapuolelta.

2. Asenna toimitetut suorat jatkoliittimet pidikkeilla ja o-
renkailla. Jatkoliittimet asennetaan olemassa olevien
letkujen seka varaajaosan ja ilmankasittelyosan valilla
kulkevien putkien valiin.

? MUISTAI

Asenna ja/tai vaihda o-renkaat kaikkiin liitti-

Ui NP

Menojohto

Paluujohto

DKI S20 | FI

Sahkoasennukset
HUOM!
Sahkobasennukset saa tehda vain valtuutettu sah-
kdasentaja.

Sahkobasennukset ja johtimien veto on tehtava
voimassa olevien asetusten ja maaraysten mukai-
sesti.

Lampopumpun pitaa olla jannitteetén DKI S20:n
asennuksen aikana.

» Ulkoisen liitdnnan tiedonsiirto- ja anturikaapelin johdinalan
tulee olla vahintaan 0,5 mm?, kun kaytetaan alle 50 m pi-
tuisia kaapeleita, esim. tyyppia EKKX tai LiYY.

» llmankasittelyosan ja varaajaosan valisen tiedonsiirtokaa-
pelin enimmaispituus on 30 m.

« Syottokaapelin vahimmaispinta-alan on oltava 1,5 mm?,
esimerkiksi HO5VV, H05Z1Z1, HO7RNF tai vastaava.

» Hairididen valttamiseksi ulkoisten liitdntdjen anturikaape-
leita ei saa asentaa vahvavirtakaapeleiden laheisyyteen.

TIEDONSIIRTOKAAPELI

Kytke mukana toimitetut tiedonsiirtokaapelit.
 Ferriitilla varustettu kaapeli kytketaan ilmankasittelyosaan

» Toinen kaapeli kytketaan varaajaosaan.

« Liita kaapelit yhteen liitantarasioissa.

? MUISTAI

Liitantarasioiden on taytettava sijaintipaikan vaa-
tima IP-luokitus.

29



SYOTTOKAAPELI Ylapelti

1. Asenna mukana toimitettu ferriitti syéttokaapeliin
mahdollisimman Iahelle iimankasittelyosaa. Kaapeli pu-
jotetaan ferriitin 1api 3 kertaa.

1.  Asenna ylapelti lAmmadnsiirto-osaan. Kiinnita pelti 6
M5x9-ruuvilla.

2. Kuori syottokaapeli.

Pohjalevy

1. Kiinnita pohjalevy 2 M5x9-ruuvilla.

PZ1-taltta
0,5-0,7Nm

4. Liita ilmankasittelyosa varaajaosaan.

30 DKI S20 | FI



3. Asenna pohjalevy ilmankasittelyosaan.

Storm ==
Em

NIy

==

4. Ruuvaa pohjalevy kiinniilmankasittelyosan etureunaan
samoilla ruuveilla, joilla ilmankasittelyosa on kiinnitetty
kannattimeen.

=)

U

—
b

5. Kiinnita kaapelit ja kondenssivesiletku pohjalevyyn mu-
kana toimitetuilla nippusiteilla.

6. Asenna ilmankasittely- ja varaajaosien etupellit.

DKI S20 | FI

31



Nederlands

Algemeen

Dit accessoire wordt gebruikt wanneer u S735 wilt splitsen
en de luchtbehandelingseenheid en de boilereenheid op
enige afstand van elkaar wilt installeren, bijvoorbeeld als u
de luchtbehandelingseenheid op zolder installeert.

De beugel BAU 10 moet worden gebruikt om de luchtbehan-
delingseenheid te installeren.

BUFFERVAT (UKV)

In installaties met verwarmingssystemen die gevoelig zijn
voor klikkende geluiden - en waar er een grote afstand is
tussen de luchtbehandelingseenheid en de boilereenheid -
kan het nodig zijn om een buffervat (UKV) te installeren.

? LET OP!

Om onnodige warmteverliezen te voorkomen
moeten de leidingen worden geisoleerd.

De maximale leidinglengte tussen de luchtbehan-
delingseenheid en de boilereenheid is 20 m.

De maximale kabellengte voor de communicatieka-
bel tussen de luchtbehandelingseenheid en de
boilereenheid is 30 m.

F TIP
Zie de installatiehandleiding voor S735 meer infor-
matie over de warmtepomp en de installatie ervan.

Het document kan worden gedownload van ni-
benl.nl.

32

INHOUD

1X Bovenpaneel

1x Bodemplaat:

1x Paneel

1x Condenswaterslang

4 x Verbindingsaansluitingen

8 x Schroef M5x9

2 x Schroef M5x16

2 x Moeren

8 x Sluitklemmen

2x Connector voor voedingskabel
2 x Communicatiekabel met connector
1x Ferriet

16 x O-ringen

1x Kabelbandjes

5x Kabelbinder met klemmen

2 x Metalen kabelbandjes

2 x Isolatie

DKI S20 |NL


www.nibenl.nl
www.nibenl.nl

Voorbereidingen Demonteren

& Voorzichtig! 5 LET OP!
Tap het water af uit S735 als die al eerder geplaatst De luchtbehandelingseenheid weegt ca. 75 kg en
is. Er kan wat heet water aanwezig zijn bij het af- het gewichtis niet gelijkmatig verdeeld - de rech-
tappen: gevaar voor brandwonden. terkant van de luchtbehandelingseenheid is het
zwaarst.
1. Schakel te warmtepomp uit en onderbreek de stroom Gebruik hijsapparatuur om de luchtbehandelings-
met de veiligheidsschakelaar. sectie veilig naar een geschikte werkhoogte te la-
2. Verwijder de voorpanelen van de warmtepomp. ten zakken. Als het niet mogelijk is om hijsappara-

tuur te gebruiken, bereid dan een plaats op een
lagere hoogte voor waar de luchtbehandelingseen-
heid kan worden geplaatst.

3. Verwijder het display.

1. Maak de bedrading tussen hetluchtbehandelingsgedeel-
te en het boilergedeelte los.

2. Koppel de condensslang los van het luchtbehandelings-
gedeelte.

3. S735 met overstortkom: maak het waterslot (WMé6) los
van de overstortkom (WM1).

DKI S20 |NL 33



4. S735metoverstortkom: Verwijder het waterslot van de Beuge|

condensslang. 1. Breng de beugel BAU 10 aan volgens de bijbehorende
installatiehandleiding.

2. Installeer het meegeleverde paneel aan de achterkant
van de luchtbehandelingseenheid en zet het vast met
de aanwezige schroeven van de luchtbehandelingseen-
heid. Installeer ook de metalen kabelbandjes en de isola-
tiepads.

5. Verwijder de leidingaansluitingen van de aanvoer- en
retourleidingen.

3. Buig de vergrendelingslipjes op de luchtbehandelings-
eenheid naar buiten.

) TIP
Til de luchtbehandelingseenheid aan de voor-

kant iets omhoog zodat u makkelijker bij de
leidingaansluitingen kunt.

De luchtbehandelingseenheid is met twee
schroeven aan de voorkant van de warmte-
pomp bevestigd.

=w=1 Iram

6. Wanneer de schroeven zijn verwijderd, verwijdert u de
luchtbehandelingseenheid van de boilereenheid door
deze naar de voorste rand van de warmtepomp en ver-
volgens omhoog te trekken.

34 DKI S20 | NL



4. Breng de luchtbehandelingseenheid aan op de beugel.

? LET OP!

Zorg ervoor dat de condensleiding op de
luchtbehandelingseenheid niet beschadigd
raakt.

5. Schuif de vergrendelingslipjes op de luchtbehandelings-
eenheid in de beugel en schroef ze op hun plaats met
de meegeleverde M5x16-schroeven.

DKI S20 |NL

Aansluiting van de leidingen

Alle andere leidingen moeten worden gelegd met een leiding
van 22 mm en scherpe bochten moeten worden vermeden.

LUCHTBEHANDELING

1. Brengde leidingen voor de aanvoer- en retourleidingen
aan met behulp van de meegeleverde hoekconnectoren,
klemmen en O-ringen.

Retourleiding

Aanvoerleiding

2. Bevestigde leidingen aan de achterkant van de luchtbe-
handelingseenheid met behulp van metalen kabelband-
jes.

3. Installeer de ontluchters op het hoogste puntin de in-

stallatie.

4. Installeer de meegeleverde condensslang op de lucht-
behandelingseenheid.

CONDENSWATERSLANG
De condensslang wordt naar een afvoer geleid, wat op ver-
schillende manieren kan worden gedaan.

De slang moet over de gehele lengte omlaag lopen om wa-
terzakken te voorkomen.

30)- TIP
= Indien nodig kan de condensslang worden ingekort
door deze af te snijden.

S735 MET GEINTEGREERD WATERSLOT (WMé6)
1. Brengeen waterslot (WMé) aan op de condensslang van
de luchtbehandelingseenheid.

2. Zethet waterslotindien mogelijk vast aan één rand van
de afvoer.

Anders:

Vorm de condensslang zo dat er een waterslot wordt
gevormd en leid de slang naar een afvoer.

35



S735 ZONDER GEINTEGREERD WATERSLOT VERWARMINGSGEDEELTE

Vorm de condensslang zo dat er een waterslot wordt ge- 1. Trekde flexibele leidingen naar buiten aan de achterzijde
vormd en leid de slang naar een afvoer. van de boilereenheid.

2. Brengde meegeleverde rechte verbindingsaansluitingen
aan met behulp van de meegeleverde klemmen en O-
ringen. De verbindingsaansluitingen worden aange-
bracht tussen bestaande flexibele leidingen en de leidin-
gen die tussen de boilereenheid en de luchtbehande-
lingseenheid lopen.

? LET OP!

Breng O-ringen aan op alle koppelingen en/of

L

vervang ze.

Aanvoerleiding Retourleiding

36 DKI S20 |NL



Elektrische aansluiting

ZSS Voorzichtig!
Alle elektrische aansluitingen moeten door een
erkende elektricien worden uitgevoerd.

De elektrische installatie en de bedrading moeten
worden uitgevoerd conform de nationale bepalin-
gen.

De warmtepomp moet spanningsloos zijn als
DKI S20 wordt geinstalleerd.

» De minimale doorsnede van de communicatie- en sensor-
kabels naar externe aansluitingen dient 0,5 mm2 met een
max. 50 m te bedragen, bijvoorbeeld EKKX, LiYY of gelijk-
waardig.

» De maximale kabellengte voor de communicatiekabel
tussen de luchtbehandelingseenheid en de boilereenheid
is 30 m.

* Het minimale oppervlak van de voedingskabel moet
1.5 mm? zijn, bijvoorbeeld HO5VV, H05Z1Z1, HO7RNF of
vergelijkbaar.

* Ominterferentie te voorkomen, mogen sensorkabels naar
externe aansluitingen niet dichtbij elektrische voedings-
kabels worden gelegd.

COMMUNICATIEKABEL

Sluit de meegeleverde communicatiekabels aan.

+ De meegeleverde kabel met ferrietkralen wordt aangeslo-
ten in de luchtbehandelingseenheid

» De andere kabel wordt aangesloten op de boilereenheid.

» Sluit de kabels aan in aansluitdozen.

? LET OP!

De aansluitdozen moeten voldoen aan de IP-clas-
sificatie voor de locatie waar ze worden geplaatst.

DKI S20 | NL

VOEDINGSKABEL

1.

N

w

4,

Installeer de meegeleverde ferrietkralen op de voedings-
kabel, zo dicht mogelijk bij de luchtbehandelingseenheid.
De kabel wordt 3 keer door de ferrietkralen geleid.

Strip de voedingskabel.

Breng de 2 meegeleverde connectoren aan op de voe-
dingskabel.

>

Schroevendraaier
Pz1

Sluit de luchtbehandelingseenheid aan op de boilereen-
heid.

37



Boven pa nee' 3. Brengdebodemplaataan op de luchtbehandelingseen-

1. Breng het bovenpaneel aan op het boilergedeelte. Be- heid.

vestig het paneel met 6 van de meegeleverde M5x9-
schroeven.

4. Schroefde bodemplaataan de voorkant van de luchtbe-
handelingseenheid op zijn plaats met dezelfde schroe-
ven waarmee ook de luchtbehandelingseenheid aan de
beugel is bevestigd.

Bodemplaat:

1. Zet de bodemplaat vast met 2 van de meegeleverde
M5x9-schroeven.

2. Buig de vergrendelingslipjes op de bodemplaat naar
buiten.

5. Zetdebedrading en de condensslang vastin de bodem-
plaat met behulp van de meegeleverde kabelbandjes.

6. Plaats de voorpanelen terug op de luchtbehandelings-
en boilereenheden.

38 DKI S20 | NL






NIBE Energy Systems
Hannabadsvégen 5
Box 14

SE-285 21 Markaryd
info@nibe.se

nibe.eu

Detta ar en publikation fran NIBE Energy Systems. Alla produktillustrationer, fakta och data
bygger péa aktuell information vid tidpunkten fér publikationens godkannande.

NIBE Energy Systems reserverar sig for eventuella fakta- eller tryckfel.

©2022 NIBE ENERGY SYSTEMS

631189

IHB SV 2225-1 631189


https://www.nibe.eu

	Cover Page
	Table of Contents
	Svenska
	Allmänt
	Utjämningskärl (UKV)
	Innehåll

	Förberedelser
	Demontering
	Konsol
	Röranslutning
	Luftbehandlingsdel
	Kondensvattenslang
	S735 med inbyggt vattenlås (WM6)
	S735 som saknar inbyggt vattenlås

	Beredardel

	Elinkoppling
	Kommunikationskabel
	Matningskabel

	Topplåt
	Bottenplåt

	English
	General
	Buffer vessel (UKV)
	Contents

	Preparations
	Dismantling
	Bracket
	Pipe connections
	Air treatment section
	Condensation water hose
	S735 with integral water seal (WM6)
	S735 with no integral water seal

	Heater section

	Electrical connection
	Communication cable
	Power supply cable

	Top panel
	Base plate

	Deutsch
	Allgemeines
	Pufferspeicher (UKV)
	Inhalt

	Vorbereitungen
	Demontage
	Konsole
	Rohranschluss
	Abluftmodul
	Kondenswasserschlauch
	S735 mit integriertem Wasserverschluss (WM6)
	S735 ohne integrierten Wasserverschluss

	Speicherteil

	Elektrischer Anschluss
	Kommunikationskabel
	Stromversorgungskabel

	Obere Abdeckung
	Bodenplatte

	Suomeksi
	Yleistä
	Puskurivaraaja (UKV)
	Sisältö

	Valmistelut
	Irrotus
	Kannatin
	Putkiliitäntä
	Ilmankäsittelyosa
	Kondenssivesiletku
	S735 sisäänrakennetulla vesilukolla (WM6)
	S735 ilman sisäänrakennettua vesilukkoa

	Varaajaosa

	Sähköasennukset
	Tiedonsiirtokaapeli
	Syöttökaapeli

	Yläpelti
	Pohjalevy

	Nederlands
	Algemeen
	Buffervat (UKV)
	Inhoud

	Voorbereidingen
	Demonteren
	Beugel
	Aansluiting van de leidingen
	Luchtbehandeling
	Condenswaterslang
	S735 met geïntegreerd waterslot (WM6)
	S735 zonder geïntegreerd waterslot

	Verwarmingsgedeelte

	Elektrische aansluiting
	Communicatiekabel
	Voedingskabel

	Bovenpaneel
	Bodemplaat:




